Ugu District Municipality
(Registration number DC21)
Consolidated Financial Statements for the year ended 30 June 2017

Accounting Policies

1.13 Impairment of cash-generating assets (continued)
Recognition and measurement (individual asset)

If the recoverable amount of a cash-generating asset is less than its carrying amount, the carrying amount of the asset is
reduced to its recoverable amount. This reduction is an impairment loss.

An impairment loss is recognised immediately in surplus or deficit.
Any impairment loss of a revalued cash-generating asset is treated as a revaluation decrease.

When the amount estimated for an impairment loss is greater than the carrying amount of the cash-generating asset to which it
relates, the economic entity recognises a liability only to the extent that is a requirement in the Standard of GRAP.

After the recognition of an impairment loss, the depreciation (amortisation) charge for the cash-generating asset is adjusted in
future periods to allocate the cash-generating asset’s revised carrying amount, less its residual value (if any), on a systematic
basis over its remaining useful life.

Cash-generating units

If there is any indication that an asset may be impaired, the recoverable amount is estimated for the individual asset. If it is not
possible to estimate the recoverable amount of the individual asset, the economic entity determines the recoverable amount of
the cash-generating unit to which the asset belongs (the asset's cash-generating unit).

If an active market exists for the output produced by an asset or group of assets, that asset or group of assets is identified as a
cash-generating unit, even if some or all of the output is used internally. If the cash inflows generated by any asset or cash-
generating unit are affected by internal transfer pricing, the economic entity use management's best estimate of future price(s)
that could be achieved in arm's length transactions in estimating:
o the future cash inflows used to determine the asset's or cash-generating unit's value in use; and
o the future cash outflows used to determine the value in use of any other assets or cash-generating units that are
affected by the internal transfer pricing.

Cash-generating units are identified consistently from period to period for the same asset or types of assets, unless a change
is justified.

The carrying amount of a cash-generating unit is determined on a basis consistent with the way the recoverable amount of the
cash-generating unit is determined.

An impairment loss is recognised for a cash-generating unit if the recoverable amount of the unit is less than the carrying
amount of the unit. The impairment is allocated to reduce the carrying amount of the cash-generating assets of the unit on a
pro rata basis, based on the carrying amount of each asset in the unit. These reductions in carrying amounts are treated as
impairment losses on individual assets.

In allocating an impairment loss, the entity does not reduce the carrying amount of an asset below the highest of:
. its fair value less costs to sell (if determinable);
. its value in use (if determinable); and
e zero.

The amount of the impairment loss that would otherwise have been allocated to the asset is allocated pro rata to the other
cash-generating assets of the unit.

Where a non-cash-generating asset contributes to a cash-generating unit, a proportion of the carrying amount of that non-
cash-generating asset is allocated to the carrying amount of the cash-generating unit prior to estimation of the recoverable
amount of the cash-generating unit.
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Ugu District Municipality
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Accounting Policies

1.13 Impairment of cash-generating assets (continued)
Reversal of impairment loss

The economic entity assess at each reporting date whether there is any indication that an impairment loss recognised in prior
periods for a cash-generating asset may no longer exist or may have decreased. If any such indication exists, the entity
estimates the recoverable amount of that asset.

An impairment loss recognised in prior periods for a cash-generating asset is reversed if there has been a change in the
estimates used to determine the asset’s recoverable amount since the last impairment loss was recognised. The carrying
amount of the asset is increased to its recoverable amount. The increase is a reversal of an impairment loss. The increased
carrying amount of an asset attributable to a reversal of an impairment loss does not exceed the carrying amount that would
have been determined (net of depreciation or amortisation) had no impairment loss been recognised for the asset in prior
periods.

A reversal of an impairment loss for a cash-generating asset is recognised immediately in surplus or deficit.
Any reversal of an impairment loss of a revalued cash-generating asset is treated as a revaluation increase.

After a reversal of an impairment loss is recognised, the depreciation (amortisation) charge for the cash-generating asset is
adjusted in future periods to allocate the cash-generating asset’s revised carrying amount, less its residual value (if any), on a
systematic basis over its remaining useful life.

A reversal of an impairment loss for a cash-generating unit is allocated to the cash-generating assets of the unit pro rata with
the carrying amounts of those assets. These increases in carrying amounts are treated as reversals of impairment losses for
individual assets. No part of the amount of such a reversal is allocated to a non-cash-generating asset contributing service
potential to a cash-generating unit.

In allocating a reversal of an impairment loss for a cash-generating unit, the carrying amount of an asset is not increased above
the lower of:
o its recoverable amount (if determinable); and
U the carrying amount that would have been determined (net of amortisation or depreciation) had no impairment loss
been recognised for the asset in prior periods.

The amount of the reversal of the impairment loss that would otherwise have been allocated to the asset is allocated pro rata to
the other assets of the unit.

Redesignation

The redesignation of assets from a cash-generating asset to a non-cash-generating asset or from a non-cash-generating asset
to a cash-generating asset only occur when there is clear evidence that such a redesignation is appropriate.

1.14 Impairment of non-cash-generating assets

Cash-generating assets are assets managed with the objective of generating a commercial return. An asset generates a
commercial return when it is deployed in a manner consistent with that adopted by a profit-oriented entity.

Non-cash-generating assets are assets other than cash-generating assets.

Impairment is a loss in the future economic benefits or service potential of an asset, over and above the systematic recognition
of the loss of the asset’s future economic benefits or service potential through depreciation (amortisation).

Carrying amount is the amount at which an asset is recognised in the statement of financial position after deducting any
accumulated depreciation and accumulated impairment losses thereon.

A cash-generating unit is the smallest identifiable group of assets managed with the objective of generating a commercial
return that generates cash inflows from continuing use that are largely independent of the cash inflows from other assets or
groups of assets.

Costs of disposal are incremental costs directly attributable to the disposal of an asset, excluding finance costs and income tax
expense.
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Accounting Policies

1.14 Impairment of non-cash-generating assets (continued)
Depreciation (Amortisation) is the systematic allocation of the depreciable amount of an asset over its useful life.

Fair value less costs to sell is the amount obtainable from the sale of an asset in an arm’s length transaction between
knowledgeable, willing parties, less the costs of disposal.

Recoverable service amount is the higher of a non-cash-generating asset’s fair value less costs to sell and its value in use.

Useful life is either:
(a) the period of time over which an asset is expected to be used by the economic entity; or
(b) the number of production or similar units expected to be obtained from the asset by the economic entity.

Identification
When the carrying amount of a non-cash-generating asset exceeds its recoverable service amount, it is impaired.

The economic entity assesses at each reporting date whether there is any indication that a non-cash-generating asset may be
impaired. If any such indication exists, the economic entity estimates the recoverable service amount of the asset.

Irrespective of whether there is any indication of impairment, the entity also test a non-cash-generating intangible asset with an
indefinite useful life or a non-cash-generating intangible asset not yet available for use for impairment annually by comparing its
carrying amount with its recoverable service amount. This impairment test is performed at the same time every year. If an
intangible asset was initially recognised during the current reporting period, that intangible asset was tested for impairment
before the end of the current reporting period.

Value in use
Value in use of non-cash-generating assets is the present value of the non-cash-generating assets remaining service potential.
Depreciated replacement cost approach

The present value of the remaining service potential of a non-cash-generating asset is determined as the depreciated
replacement cost of the asset. The replacement cost of an asset is the cost to replace the asset’s gross service potential. This
cost is depreciated to reflect the asset in its used condition. An asset may be replaced either through reproduction (replication)
of the existing asset or through replacement of its gross service potential. The depreciated replacement cost is measured as
the reproduction or replacement cost of the asset, whichever is lower, less accumulated depreciation calculated on the basis of
such cost, to reflect the already consumed or expired service potential of the asset.

The replacement cost and reproduction cost of an asset is determined on an “optimised” basis. The rationale is that the
economic entity would not replace or reproduce the asset with a like asset if the asset to be replaced or reproduced is an
overdesigned or overcapacity asset. Overdesigned assets contain features which are unnecessary for the goods or services
the asset provides. Overcapacity assets are assets that have a greater capacity than is necessary to meet the demand for
goods or services the asset provides. The determination of the replacement cost or reproduction cost of an asset on an
optimised basis thus reflects the service potential required of the asset.

Restoration cost approach

Restoration cost is the cost of restoring the service potential of an asset to its pre-impaired level. The present value of the
remaining service potential of the asset is determined by subtracting the estimated restoration cost of the asset from the
current cost of replacing the remaining service potential of the asset before impairment. The latter cost is determined as the
depreciated reproduction or replacement cost of the asset, whichever is lower.
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Accounting Policies

1.14 Impairment of non-cash-generating assets (continued)
Recognition and measurement

If the recoverable service amount of a non-cash-generating asset is less than its carrying amount, the carrying amount of the
asset is reduced to its recoverable service amount. This reduction is an impairment loss.

An impairment loss is recognised immediately in surplus or deficit.
Any impairment loss of a revalued non-cash-generating asset is treated as a revaluation decrease.

When the amount estimated for an impairment loss is greater than the carrying amount of the non-cash-generating asset to
which it relates, the economic entity recognises a liability only to the extent that is a requirement in the Standards of GRAP.

After the recognition of an impairment loss, the depreciation (amortisation) charge for the non-cash-generating asset is
adjusted in future periods to allocate the non-cash-generating asset’s revised carrying amount, less its residual value (if any),
on a systematic basis over its remaining useful life.

Reversal of an impairment loss

The economic entity assess at each reporting date whether there is any indication that an impairment loss recognised in prior
periods for a non-cash-generating asset may no longer exist or may have decreased. If any such indication exists, the
economic entity estimates the recoverable service amount of that asset.

An impairment loss recognised in prior periods for a non-cash-generating asset is reversed if there has been a change in the
estimates used to determine the asset’s recoverable service amount since the last impairment loss was recognised. The
carrying amount of the asset is increased to its recoverable service amount. The increase is a reversal of an impairment loss.
The increased carrying amount of an asset attributable to a reversal of an impairment loss does not exceed the carrying
amount that would have been determined (net of depreciation or amortisation) had no impairment loss been recognised for the
asset in prior periods.

A reversal of an impairment loss for a non-cash-generating asset is recognised immediately in surplus or deficit.
Any reversal of an impairment loss of a revalued non-cash-generating asset is treated as a revaluation increase.

After a reversal of an impairment loss is recognised, the depreciation (amortisation) charge for the non-cash-generating asset
is adjusted in future periods to allocate the non-cash-generating asset'’s revised carrying amount, less its residual value (if any),
on a systematic basis over its remaining useful life.

Redesignation

The redesignation of assets from a cash-generating asset to a non-cash-generating asset or from a non-cash-generating asset
to a cash-generating asset only occur when there is clear evidence that such a redesignation is appropriate.

1.15 Employee benefits
Employee benefits are all forms of consideration given by an entity in exchange for service rendered by employees.

A qualifying insurance policy is an insurance policy issued by an insurer that is not a related party (as defined in the Standard
of GRAP on Related Party Disclosures) of the reporting entity, if the proceeds of the policy can be used only to pay or fund
employee benefits under a defined benefit plan and are not available to the reporting entity’s own creditors (even in liquidation)
and cannot be paid to the reporting entity, unless either:
. the proceeds represent surplus assets that are not needed for the policy to meet all the related employee benefit
obligations; or
. the proceeds are returned to the reporting entity to reimburse it for employee benefits already paid.

Termination benefits are employee benefits payable as a result of either:
U an entity’s decision to terminate an employee’s employment before the normal retirement date; or
o an employee’s decision to accept voluntary redundancy in exchange for those benefits.

Other long-term employee benefits are employee benefits (other than post-employment benefits and termination benefits) that
are not due to be settled within twelve months after the end of the period in which the employees render the related service.
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Accounting Policies

1.15 Employee benefits (continued)
Vested employee benefits are employee benefits that are not conditional on future employment.

Composite social security programmes are established by legislation and operate as multi-employer plans to provide post-
employment benefits as well as to provide benefits that are not consideration in exchange for service rendered by employees.

A constructive obligation is an obligation that derives from an entity’s actions where by an established pattern of past practice,
published policies or a sufficiently specific current statement, the entity has indicated to other parties that it will accept certain
responsibilities and as a result, the entity has created a valid expectation on the part of those other parties that it will discharge
those responsibilities.

Short-term employee benefits

Short-term employee benefits are employee benefits (other than termination benefits) that are due to be settled within twelve
months after the end of the period in which the employees render the related service.

Short-term employee benefits include items such as:

J wages, salaries and social security contributions;

o short-term compensated absences (such as paid annual leave and paid sick leave) where the compensation for the
absences is due to be settled within twelve months after the end of the reporting period in which the employees
render the related employee service;

o bonus, incentive and performance related payments payable within twelve months after the end of the reporting
period in which the employees render the related service; and

o non-monetary benefits (for example, medical care, and free or subsidised goods or services such as housing, cars
and cellphones) for current employees.

When an employee has rendered service to the entity during a reporting period, the entity recognise the undiscounted amount
of short-term employee benefits expected to be paid in exchange for that service:

. as a liability (accrued expense), after deducting any amount already paid. If the amount already paid exceeds the
undiscounted amount of the benefits, the entity recognise that excess as an asset (prepaid expense) to the extent
that the prepayment will lead to, for example, a reduction in future payments or a cash refund; and

o as an expense, unless another Standard requires or permits the inclusion of the benefits in the cost of an asset.

The expected cost of compensated absences is recognised as an expense as the employees render services that increase
their entitiement or, in the case of non-accumulating absences, when the absence occurs. The entity measure the expected
cost of accumulating compensated absences as the additional amount that the entity expects to pay as a result of the unused
entitlement that has accumulated at the reporting date.

The entity recognise the expected cost of bonus, incentive and performance related payments when the entity has a present
legal or constructive obligation to make such payments as a result of past events and a reliable estimate of the obligation can
be made. A present obligation exists when the entity has no realistic alternative but to make the payments.

Post-employment benefits

Post-employment benefits are employee benefits (other than termination benefits) which are payable after the completion of
employment.

Post-employment benefit plans are formal or informal arrangements under which an entity provides post-employment benefits
for one or more employees.

Multi-employer plans are defined contribution plans (other than state plans and composite social security programmes) or
defined benefit plans (other than state plans) that pool the assets contributed by various entities that are not under common
control and use those assets to provide benefits to employees of more than one entity, on the basis that contribution and
benefit levels are determined without regard to the identity of the entity that employs the employees concerned.
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Accounting Policies

1.15 Employee benefits (continued)
Post-employment benefits: Defined contribution plans

Defined contribution plans are post-employment benefit plans under which an entity pays fixed contributions into a separate
entity (a fund) and will have no legal or constructive obligation to pay further contributions if the fund does not hold sufficient
assets to pay all employee benefits relating to employee service in the current and prior periods.

When an employee has rendered service to the entity during a reporting period, the entity recognise the contribution payable to
a defined contribution plan in exchange for that service:
. as a liability (accrued expense), after deducting any contribution already paid. If the contribution already paid
exceeds the contribution due for service before the reporting date, an entity recognise that excess as an asset
(prepaid expense) to the extent that the prepayment will lead to, for example, a reduction in future payments or a
cash refund; and
. as an expense, unless another Standard requires or permits the inclusion of the contribution in the cost of an asset.

Where contributions to a defined contribution plan do not fall due wholly within twelve months after the end of the reporting
period in which the employees render the related service, they are discounted. The rate used to discount reflects the time value
of money. The currency and term of the financial instrument selected to reflect the time value of money is consistent with the
currency and estimated term of the obligation.
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Accounting Policies

1.15 Employee benefits (continued)
Post-employment benefits: Defined benefit plans
Defined benefit plans are post-employment benefit plans other than defined contribution plans.

Actuarial gains and losses comprise experience adjustments (the effects of differences between the previous actuarial
assumptions and what has actually occurred) and the effects of changes in actuarial assumptions. In measuring its defined
benefit liability the entity recognise actuarial gains and losses in surplus or deficit in the reporting period in which they occur.

Assets held by a long-term employee benefit fund are assets (other than non-transferable financial instruments issued by the
reporting entity) that are held by an entity (a fund) that is legally separate from the reporting entity and exists solely to pay or
fund employee benefits and are available to be used only to pay or fund employee benefits, are not available to the reporting
entity’s own creditors (even in liquidation), and cannot be returned to the reporting entity, unless either:
J the remaining assets of the fund are sufficient to meet all the related employee benefit obligations of the plan or the
reporting entity; or
U the assets are returned to the reporting entity to reimburse it for employee benefits already paid.

Current service cost is the increase in the present value of the defined benefit obligation resulting from employee service in the
current period.

Interest cost is the increase during a period in the present value of a defined benefit obligation which arises because the
benefits are one period closer to settlement.

Past service cost is the change in the present value of the defined benefit obligation for employee service in prior periods,
resulting in the current period from the introduction of, or changes to, post-employment benefits or other long-term employee
benefits. Past service cost may be either positive (when benefits are introduced or changed so that the present value of the
defined benefit obligation increases) or negative (when existing benefits are changed so that the present value of the defined
benefit obligation decreases). In measuring its defined benefit liability the entity recognise past service cost as an expense in
the reporting period in which the plan is amended.

Plan assets comprise assets held by a long-term employee benefit fund and qualifying insurance policies.

The present value of a defined benefit obligation is the present value, without deducting any plan assets, of expected future
payments required to settle the obligation resulting from employee service in the current and prior periods.

The return on plan assets is interest, dividends or similar distributions and other revenue derived from the plan assets, together
with realised and unrealised gains or losses on the plan assets, less any costs of administering the plan (other than those
included in the actuarial assumptions used to measure the defined benefit obligation) and less any tax payable by the plan
itself.

The entity account not only for its legal obligation under the formal terms of a defined benefit plan, but also for any constructive
obligation that arises from the entity’s informal practices. Informal practices give rise to a constructive obligation where the
entity has no realistic alternative but to pay employee benefits. An example of a constructive obligation is where a change in
the entity’s informal practices would cause unacceptable damage to its relationship with employees.

The amount recognised as a defined benefit liability is the net total of the following amounts:
U the present value of the defined benefit obligation at the reporting date;
U minus the fair value at the reporting date of plan assets (if any) out of which the obligations are to be settled directly;
. plus any liability that may arise as a result of a minimum funding requirement

The amount determined as a defined benefit liability may be negative (an asset). The entity measure the resulting asset at the
lower of:
° the amount determined above; and
. the present value of any economic benefits available in the form of refunds from the plan or reductions in future
contributions to the plan. The present value of these economic benefits is determined using a discount rate which
reflects the time value of money.

Any adjustments arising from the limit above is recognised in surplus or deficit.
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1.15 Employee benefits (continued)

The entity determine the present value of defined benefit obligations and the fair value of any plan assets with sufficient
regularity such that the amounts recognised in the consolidated financial statements do not differ materially from the amounts
that would be determined at the reporting date.

The entity recognises the net total of the following amounts in surplus or deficit, except to the extent that another Standard
requires or permits their inclusion in the cost of an asset:
. current service cost;
interest cost;
the expected return on any plan assets and on any reimbursement rights;
actuarial gains and losses;
past service cost;
the effect of any curtailments or settlements; and
the effect of applying the limit on a defined benefit asset (negative defined benefit liability).

The entity uses the Projected Unit Credit Method to determine the present value of its defined benefit obligations and the
related current service cost and, where applicable, past service cost. The Projected Unit Credit Method (sometimes known as
the accrued benefit method pro-rated on service or as the benefit/years of service method) sees each period of service as
giving rise to an additional unit of benefit entittement and measures each unit separately to build up the final obligation.

In determining the present value of its defined benefit obligations and the related current service cost and, where applicable,
past service cost, an entity shall attribute benefit to periods of service under the plan’s benefit formula. However, if an
employee’s service in later years will lead to a materially higher level of benefit than in earlier years, an entity shall attribute
benefit on a straight-line basis from:
o the date when service by the employee first leads to benefits under the plan (whether or not the benefits are
conditional on further service); until
o the date when further service by the employee will lead to no material amount of further benefits under the plan,
other than from further salary increases.

Actuarial valuations are conducted on an annual basis by independent actuaries separately for each plan. The results of the
valuation are updated for any material transactions and other material changes in circumstances (including changes in market
prices and interest rates) up to the reporting date.

The entity recognises gains or losses on the curtailment or settlement of a defined benefit plan when the curtailment or
settlement occurs. The gain or loss on a curtailment or settlement comprises:

o any resulting change in the present value of the defined benefit obligation; and

J any resulting change in the fair value of the plan assets.

Before determining the effect of a curtailment or settlement, the entity re-measure the obligation (and the related plan assets, if
any) using current actuarial assumptions (including current market interest rates and other current market prices).

When it is virtually certain that another party will reimburse some or all of the expenditure required to settle a defined benefit
obligation, the right to reimbursement is recognised as a separate asset. The asset is measured at fair value. In all other
respects, the asset is treated in the same way as plan assets. In surplus or deficit, the expense relating to a defined benefit
plan is [OR is not] presented as the net of the amount recognised for a reimbursement.

The entity offsets an asset relating to one plan against a liability relating to another plan when the entity has a legally
enforceable right to use a surplus in one plan to settle obligations under the other plan and intends either to settle the
obligations on a net basis, or to realise the surplus in one plan and settle its obligation under the other plan simultaneously.
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1.15 Employee benefits (continued)
Actuarial assumptions
Actuarial assumptions are unbiased and mutually compatible.

Financial assumptions are based on market expectations, at the reporting date, for the period over which the obligations are to
be settled.

The rate used to discount post-employment benefit obligations (both funded and unfunded) reflect the time value of money.
The currency and term of the financial instrument selected to reflect the time value of money is consistent with the currency
and estimated term of the post-employment benefit obligations.

Post-employment benefit obligations are measured on a basis that reflects:

. estimated future salary increases;

o the benefits set out in the terms of the plan (or resulting from any constructive obligation that goes beyond those
terms) at the reporting date; and

o estimated future changes in the level of any state benefits that affect the benefits payable under a defined benefit
plan, if, and only if, either:

o those changes were enacted before the reporting date; or

o past history, or other reliable evidence, indicates that those state benefits will change in some predictable manner,
for example, in line with future changes in general price levels or general salary levels.

Assumptions about medical costs take account of estimated future changes in the cost of medical services, resulting from both
inflation and specific changes in medical costs.

Other post retirement obligations
The municipality provides post-retirement health care benefits, upon retirement to some retirees.

The entitlement to post-retirement health care benefits is based on the employee remaining in service up to retirement age and
the completion of a minimum service period. The expected costs of these benefits are accrued over the period of employment.
Independent qualified actuaries carry out valuations of these obligations. The municipality also provides a gratuity and housing
subsidy on retirement to certain employees. An annual charge to income is made to cover both these liabilities.

The amount recognised as a liability for other long-term employee benefits is the net total of the following amounts:
J the present value of the defined benefit obligation at the reporting date;
. minus the fair value at the reporting date of plan assets (if any) out of which the obligations are to be settled directly.

The entity shall recognise the net total of the following amounts as expense or revenue, except to the extent that another
Standard requires or permits their inclusion in the cost of an asset:
. current service cost;
interest cost;
the expected return on any plan assets and on any reimbursement right recognised as an asset;
actuarial gains and losses, which shall all be recognised immediately;
past service cost, which shall all be recognised immediately; and
the effect of any curtailments or settlements.
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1.15 Employee benefits (continued)
Termination benefits

The entity recognises termination benefits as a liability and an expense when the entity is demonstrably committed to either:
U terminate the employment of an employee or group of employees before the normal retirement date; or
o provide termination benefits as a result of an offer made in order to encourage voluntary redundancy.

The entity is demonstrably committed to a termination when the entity has a detailed formal plan for the termination and is
without realistic possibility of withdrawal. The detailed plan includes [as a minimum]:

. the location, function, and approximate number of employees whose services are to be terminated,;

. the termination benefits for each job classification or function; and

. the time at which the plan will be implemented.

Implementation begins as soon as possible and the period of time to complete implementation is such that material changes to
the plan are not likely.

Where termination benefits fall due more than 12 months after the reporting date, they are discounted using an appropriate
discount rate. The rate used to discount the benefit reflects the time value of money. The currency and term of the financial
instrument selected to reflect the time value of money is consistent with the currency and estimated term of the benefit.

In the case of an offer made to encourage voluntary redundancy, the measurement of termination benefits shall be based on
the number of employees expected to accept the offer.

1.16 Provisions and contingencies

Provisions are recognised when:
o the economic entity has a present obligation as a result of a past event;
o it is probable that an outflow of resources embodying economic benefits or service potential will be required to
settle the obligation; and
J a reliable estimate can be made of the obligation.

The amount of a provision is the best estimate of the expenditure expected to be required to settle the present obligation at the
reporting date.

Where the effect of time value of money is material, the amount of a provision is the present value of the expenditures
expected to be required to settle the obligation.

The discount rate is a pre-tax rate that reflects current market assessments of the time value of money and the risks specific to
the liability.

Where some or all of the expenditure required to settle a provision is expected to be reimbursed by another party, the
reimbursement is recognised when, and only when, it is virtually certain that reimbursement will be received if the economic
entity settles the obligation. The reimbursement is treated as a separate asset. The amount recognised for the reimbursement
does not exceed the amount of the provision.

Provisions are reviewed at each reporting date and adjusted to reflect the current best estimate. Provisions are reversed if it is
no longer probable that an outflow of resources embodying economic benefits or service potential will be required, to settle the
obligation.

Where discounting is used, the carrying amount of a provision increases in each period to reflect the passage of time. This
increase is recognised as an interest expense.

A provision is used only for expenditures for which the provision was originally recognised.
Provisions are not recognised for future operating deficits.

If an entity has a contract that is onerous, the present obligation (net of recoveries) under the contract is recognised and
measured as a provision.
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